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BACHELOR OF SCIENCE (B.Sc.)

Term-End Examination
December, 2012
LIFE SCIENCE

LSE-07 : TAXONOMY AND EVOLUTION
Time : 2 hours

Maximum Marks : 50

Note: (i) Question No. 1 is compulsory.
(i1) Attempt any four questions from question
No. 2 to 6.
(iii) ~ Attempt five questions in all.
1. (a) Match theitems givenunder column A with 4
those given under column B.
Column-A Column-B
(i) Scolex (A) Cyanobacteria
(i) Nereis (B) Mucor
(iii) Sporangium (C) Tapeworm
(iv) Anabaena (D) Parapodia
(b) Define the following terms : 3
(i) Semantides (if) Karyotype
(ili) Fossil
(c) Complete the following statements by 3
choosing the correct alternative from words
given within brackets :
(i) Royal Botanical Garden is located in
(Kew, London / Sibpur, India)
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2. (a)
(b)
3. (a)
(b)
(©)
4. (a)
(b)
5. (a)
(b)
LSE-07

(ii) . (Kangaroos / Giraffes) are found in
the Australian region.

(iii) A circle or group of races is known as
(Rassenkreis / Artenkreis)

Give an account of the “Five Kingdom
System of classfication” as proposed by
Whittaker and mention demerits of the
system. 5+2=7
State the difference between alpha 3
taxonomy and omega taxonomy ?

Describe briefly the various sources of 5
variability in populations.
“Sexual selection is a special case of natural 3

selection”. Discuss the statement.

Distinguish between group selection and kin 2
selection.

List any four tools used by a taxonomist.
Describe any two of them in details.  2+3+3=8

Define the term ‘radioactive dating’ and 2
mention its use.

List the various premating isolating

mechanisms. Discuss any two of them in
details. 2+2+2=6

State the major trends in evolution of the 4
genus Homo.



6.  Write notes on any two of the following : 5x2=10
(a) Industrial Melanism
(b) Herbarium ethics

(¢) Numerical Taxonomy
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(b)
3. (a)
(b)
(c)
4 (@)
(b)
5 (a)
(b)

(i) eoirefem & (FmE / fUw) 9 S €
(i) T F T A T B (THATHREE /
STETHTZH) FEd ¢ |

feoent gI0 GaiTs TS GrESiIdE aiieRTl Jomet
& forwa & forfae) 3@ yomedt =1 fontaal =

ot Ieer@ HIfT | 5+2=

Tow dfffe! e S gfifet § 948 Ja5

e et # fafaear steren TR o o fafis
Hidl 1 JUE FHIST |

wfites 01 qigpfas aXur w1 T fove afEd
®Y 1 TH HYT H SATEAT R |
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afiferifag & swraare B § sl ar = fafreag
Fife | 379 9 forl < ) fomargds fafaw)

2+3+3=

eyt e fuior wsg &t afm fafaw )
% ggfa fora o9 et 82

g gt qrefe frafatual ) arfers sy
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8
2

o<l 1 fomranfafial =1 avla wifsT) 2+2+2=6

e fasE &t yq@ ygial =i fafau)

6

4



6. frafafen & & fdl < W feoqoit fafau - 5x2=10
(a) Shenfirs arfaepoma
(b) THREAR T FAT JER
(c) Hearws Ffifat
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